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MASTER OF ARTS (ECONOMICS)

Term-End Examination
December, 2014 04588
MEC-105 : INDIAN ECONOMICS POLICY

Time : 3 hours Maximum Marks : 100

Note : Answer the questions as per the instructions in each

section.

SECTION - A

Answer any two questions in about 700 words
each : 2x20=40

1.  India has, by and large failed to gain so far from
the “Window of Demographic Opportunity’. Do
you agree ? What policy Changes would you
suggest in this connection ?

2. Indian industry, at the present stage of
development, is faced with serious shortage of
natural resources like land, water and minerals.
Suggest policy measures to overcome these
limitations.

3.  'Rapid economic growth is a necessary but not
sufficient condition for removal of poverty in
India’. Do you agree ? Outline the policy
framework adopted in India in this context.
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4. Monetary policy is always faced with a choice
between three, often conflicting objectives,
specially in a fast-emerging economy like India.
Explain. Also make suggestions to make monetary
policy more effective.

SECTION - B
Answer any five questions from this section in
about 400 words each. 5x12=60

5. ‘Manufacturing sector, generally is capable of
generating new job opportunities’. Is it true for
India also ? Justify your answer.

6. Rapid economic growth makes increasing
demand on infrastructure sector. Who should
bear the burden of financing infrastructure
programmes in an emerging economy like

India ?

7. ‘Indian agriculture suffers from inadequate
capital formation’. Do you agree ? What needs
to be done ?

8.  What do you mean by ‘food security’ ? Do you
think adequate policy measures have been taken
in India to achieve this objective ?

9. India’s export basket is rapidly changing. But the
real weakness is slow growth of high-tech exports.
Elaborate.

10. Is the rising current account deficit and fiscal
deficit in an emerging economy a blessing or a
curse ? Justify your answer and suggest a suitable
policy framework.
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11. Growing perception of corruption is hitting at the
roots of growth. Suggest policy measures that can
promote good governance.

12. The process of liberalisation, privatisation and
globalisation has got stalled in India under the
pressure of both domestic and international factor.
Explain.
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TT-%
WG ARl wwH F T | T I H IW
TN 700 TET H <1 R | 2x20=40

1. ‘w9 fraer 9Ra sAifeela sam w1 fagst @
Y YT A H TR W e F Y 39 FUF |
wewd € 7 39 fawg ¥ ey fa-fa Hifara ggmal
S IR ?

2, foom & sdam =0 ¥ wRdg 3@ wepfas g
S yfh, S ae i gl 6 TR FT A
¥ 9 @ | 3 Ewe | e w ¥ fa e
3} A S |

3. '9Ra # we framw jg o onfuw wafg smavasw @
TR TR F1 MY 3 FUH QA WEHd £ 2 3W
el ¥ ya g e T e sfY @1 faae
HIT |
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4. ‘'R S dST B SEIEE srdegewer ¥ Hifge ifq
T2 € A e o St o | St @R e
it | Hifgss ifa 1 e gumet a9 &g goa o
=l

We -G
Trefafad § 4 fandl ufer 9 & S| 9 99
1 I AN 400 Vel H T | 5x12=60

5. ‘geraey g fafmior &% U ISR % e I
4 gerq B’ o 98 9d URd & foug # oft 5= 87?
3 T H G H ek 2 |

6. O 3 HWafg T SMURYA = I W Sedl B
IRA STEl 3SEEE srefemae H STHRYd §ET &
fodi=m &1 9R fFge! agq &1 a9feu ?

~

‘RS 9 ot gt fafor @ difea 310 e a1
T HY | ed § 2 39 fava § @ e =nfen ?

8. ‘W HReN' | AU F1 HA ¥ 7 A7 37 UHT A §
T 39 3T¥ &1 WIfd 8 9Rd ¥ v Afara o
P 2

9. 9Rd & fafd I a4 9°d W1 W 3=
dehie faia &t 9< Hgfg THH TH@ FAAR T
AT FH |

10. T IEEAA sAefewen § Fedl g3 9% @ § wel
der fafe =mer axem § stean Afuemg 2 o SR F
el ® qh < Wi € Iugad AfaTa gerg off 3
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11, Y<ER 1 9gd FIIIH Hgfg F1 SIS 9 3= a2
@R U e gera ¥ < gem @ diewta 5y

12. W] U ffad FRH % qoma § aRa § serieo,

frsitenor wel Sreefteror 7 whtwan sees g8 31 =men
Exdl
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